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Flower 3 change in height: 3%

Flower 4 change in height: 1% in.

From least growth to most growth, the.
order is Flower 2, Flower 4, Flower 1,
and Flower 3. Flower 3 grew the most in
one month.

Rubric

0.5 point for each height difference;

2 points for ordered list;

0.5 point for answer
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6.NS.7b
SELECTED RESPONSE 4. Anthony has $53.43 in his savings
Seloct the correct answer. account, Maxine has $54.78, Rodolfo

1. The thermometer at Bruce's house
shows a temperature of -2 °F. The
thermometer at Zan's house reads
-5 °F. Which inequality represents this
situation? Whose thermometer shows a
‘warmer temperature?

@ -2 °F <=5 °F; Bruce’s thermometer
shows a warmer temperature.

(B -2 °F <5 °F; Zan’s thermometer
shows a warmer temperature.

(@© -2 °F >-5 °F; Bruce’s thermometer
shows a warmer temperature.

(@ -2 °F > -5 °F; Zan's thermometer
shows a warmer temperature.

2. Marco and Randy decide to have a foot
race on a local field. Marco can maintain
a speed of 8 miles per hour, while Randy

runs at 6 miles per hour. Which inequality
represents this situation? Who is faster?

(A 8 mph > 6 mph; Marco is faster.
(@ 8 mph > 6 mph; Randy is faster.
(€ 8 mph < 6 mph; Marco is faster.
(D> 8 mph < 6 mph; Randy is faster.

has $54.98, and Nicola has $53.29. Who

has saved the most money? Who has

saved the least?

(&) Maxine has saved the most money,
and Anthony has saved the least.

(B) Maxine has saved the most money,
and Nicola has saved the least.

(© Rodolfo has saved the most money,
and Nicola has saved the least.

(DD Rodolfo has saved the most money,
and Anthony has saved the least.

Select all correct answers.
5. Jack needs a piece of wood at least
13
%
project he is working on. Which of the
following lengths of wood would meet
his requirements?

1
@Emcn

inch long for some detail work on a

®
©

g
3 in
2
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3. Ina cooking class, each student needs
; cup of sugar for a recipe. Zach has

% cup of sugar at his cooking station,

while Suzanne has % cup at her cooking

station. Who has enough sugar to make

the recipe?

(& Zach has enough sugar.

(B Suzanne has enough sugar.

(@© Zach and Suzanne both have
enough sugar.

(D) Neither Zach nor Suzanne has
enough sugar.

CONSTRUCTED RESPONSE
6. Arecipe calls for % cup strawberries,

1 1 3
4 cup sugar, 5 cup walnuts, and 7 cup

flour. Order the amounts from least to
greatest. Which ingredient does the.
recipe require the least amount of?
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7. While climbing a mountain, Chuck and
Marissa decided to take separate trails
and meet at the peak. Chuck took the
easier trail and was at an elevation of
about 425 feet after an hour. Marissa
took the more advanced trail and made
it to 550 feet in an hour. Marissa started
to get tired and was only able to climb
150 more feet in the next hour. Since
Chuck took the easier trail, he was able
to climb an additional 350 feet in the
second hour. Write inequalities that
express their locations on the mountain
after 1 hour and after 2 hours. Who was
ata higher elevation after 2 hours?

8. Sally plants four flowers in her garden
and measures their heights (Height 1)
One month later, she measures their
heights again (Height 2). Which flower
grew the most? Show your work.

9. The record low temperatures for three
towns in Alaska are given in the table
below. Write three inequalities using
three different pairs of temperatures.
Which of the three towns has the
highest record low?

Town [ Record Low
Anchorage | 34 °F
Barrow =56 °F
Juneau —22°F

10. Sam and Nima have part-time jobs for

the summer. Over the last three weeks,
Sam has made deposits of $40.25,
$58.50, and $28.40 into his savings
account. During the same time, his sister
Nima has deposited $60.85, $20.00, and
$62.13 into her savings account.

a. Write an inequality that compares
Sam'’s total deposits with Nima's
total deposits. Who deposited more
‘money?
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Flower | Height 1 | Height 2
1 5
1 65 in | 85cin
3, 1 b. Sam and Nima both make
2 g | 8gin withdrawals from their accounts.
3 T | 02 Nima withdraws $37.28. After the
Sg in. 16 withdrawals, Sam has more money
5 1 in his account than Nima does,
4 Bgin | 7z What is the largest amount Sam

could have withdrawn for this to be
true? Explain your reasoning.
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1.C
2.A
3.A
4.c
5.B,D

6.3 cup, 1 cup, 2 cuy
3 CUP. 5 cup, 5 cup,
The recipe requires a smaller amount of
sugar than the other ingredients.
Rubric
2 points for correctly ordered list
of values;
1 point for stating the recipe requires the
least amount of sugar
7. Possible answer: 1 hour: 425 ft < 550 ft;
2 hours: 775 ft > 700 ft
Chuck was at a higher elevation
after 2 hours.
Rubric
1 point for each inequality;
1 point for who was at a higher elevation
after 2 hours

8. Flower 1 change in height: 1% in.

Flower 2 change in height: % in.

9.

10.

Possible answer: 34 °F <22 °F,
~34 °F >-56 °F, 22 °F >-56 °F
Juneau has the highest record low.

Rubri
1 point for each inequality;
1 point for stating Juneau has the highest
record low
a. Sam deposited $127.15 and Nima
deposited $142.98. An inequality
that compares these total deposits
is $127.15 < $142.98 (or
$142.98 > $127.15). Nima deposited
more money.
b. Nima withdrew $37.28, so she has a
total of $142.98 — $37.28 = $105.70.
If Sam has more money in his
account, he must have at least
$105.71. That means the largest
‘withdrawal he could make is
$127.15 - $105.71 = $21.44.
Rubri
a. 1 point for the total deposits, 1 point
for a correct inequality
b. 1 point for correct answer; 2 points for
appropriate explanation





